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Instructions with Model Questions 
 

 Examinees are asked to go through this model question to solve the final MCQ 

during the examination. 

Instructions / [>ìƒ¢Åà¤ºã : 
1. šøÅ¥ ëƒ*Úà Òì¤ "Multiple Choice Question Format" (¤×[¤A¡¿ãÚ šøÅ¥)-&¹ ³à‹¸ì³¡ú 
 The questions will be given in multiple choice question format.  
2. Î¤¢ì³ài¡ 30 ([yÅ)[i¡ šøÅ¥ ëƒ*Úà Òì¤ t¡à¹ ë=ìA¡ 20 (Aå¡[Øl¡)[i¡ šøìÅ¥¹ l¡üv¡¹ š¹ãÛ¡à=¢ãìA¡ [ƒìt¡ Òì¤¡ú 
 Out of 30 (Thirty) questions the examinee have to attend 20 (Twenty) questions. 
3. š¹ãÛ¡à=¢ãìA¡ 4 (W¡à¹)[i¡ l¡üv¡ì¹¹ ³ì‹¸ ë=ìA¡ &A¡[i¡ Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡¹ìt¡ Òì¤¡ú 
 The examinee have to select the correct answer from the given 4 (four) option. 
4. šø[t¡[i¡ šøìÅ¥¹ ³à> 5 (šòàW¡)¡ú 
 Each question carries 5 marks. 
l¡üƒàÒ¹o /Example : 

i) š¹š¹ 7 (Îàt¡) [ƒì>¹ KõÒãt¡ ëó¡à> A¡ìº¹ Î}J¸à ëƒ*Úà Òº, t¡à¹ ë=ìA¡ mode (šøWå¡¹A¡) [>o¢Ú A¡¹ç¡> : 
 11, 13, 13, 17, 19, 23, 25. 
 (a) 11 (b) 13 
 (c) 17 (d) 23 
 Find the mode of the calls received on 7 consecutive days : 
 11, 13, 13, 17, 19, 23, 25. 
 (a) 11 (b) 13 
 (c) 17 (d) 23 
 Answer : (b) 
ii) šø[t¡K³> ë¹Jà (Regression line)-&¹ &A¡[i¡ ¤¸¤Òà¹ Òº 
 (a) X-&¹ ³à> outlier-& "¤[Ñ‚t¡ [A¡>à t¡à ëƒJà 

¡ (b) Y-&¹ ³à> outlier-& "¤[Ñ‚t¡ [A¡>à t¡à ëƒJà 

 (c) X-&¹ ³àì>¹ š[¹¤t¢¡ì>¹ Îàì= Y-&¹ ³àì>¹ š[¹¤t¢¡> A¡t¡i¡à t¡à ëƒJà 

 (d) &A¡ &A¡A¡ X-&¹ ³àì>¹ š[¹¤t¢¡ì>¹ Îàì= Y-&¹ ³àì>¹ š[¹¤t¢¡> A¡t¡i¡à t¡à ëƒJà¡ 

 One use of regression line is 
 (a) to determine if any X-values are outliers 
 (b) to determine if any Y-values are outliers 
 (c) to determine if a change in X causes a change in Y 
 (d) to estimate the change in Y for an one unit change in X 
 Answer : (d) 
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iii) [>´•[º[Jt¡ ëA¡à>ô >³å>àÚ> š‡ý¡[t¡[i¡ ®¡àº ë=ìA¡ Jà¹àš yû¡³ ">å™àÚã "àìá ?¡ 
 (a) Î¹º [>[¤¢W¡à¹ã >³å>àÚ>, Ñz[¹t¡ >³å>àÚ>, Îå[¤‹àì=¢ >³å>àÚ> 

 (b) Î¹º [>[¤¢W¡à¹ã >³å>àÚ>, Îå[¤‹àì=¢ >³å>àÚ>, Ñz[¹t¡ >³å>àÚ> 

 (c) Ñz[¹t¡ >³å>àÚ>, Î¹º [>[¤¢W¡à¹ã >³å>àÚ>, Îå[¤‹àì=¢ >³å>àÚ> 

¡ (d) Ñz[¹t¡ >³å>àÚ>, Îå[¤‹àì=¢ >³å>àÚ>, Î¹º [>[¤¢W¡à¹ã >³å>àÚ> 

 Select the order of sampling schemes from best to worst : 
 (a) Simple random sampling, Stratified sampling, Convenience sampling 
 (b) Simple random sampling, Convenience sampling, Stratified sampling 
 (c) Stratified sampling, Simple random sampling, Convenience sampling 
 (d) Stratified sampling, Convenience sampling, Simple random 
 Answer : (a) 
iv) [>´•[º[Jt¡ ëA¡à>ô [¤ÈìÚ¹ \>¸ ¤àÚå "[t¡[¹v¡û¡ š[¹³àìo \ºãÚ ¤àÍš ‹à¹o A¡¹ìt¡ šàì¹ ?¡ 
 (a) ¤àÚåšø¤àÒ ¤õ[‡ý¡¹ ó¡ìº (b) ¤àÚå¹ l¡üÌ¡t¡à ¤õ[‡ý¡¹ ó¡ìº 

 (c) ¤àÚå¹ l¡üÌ¡t¡à A¡³à¹ ó¡ìº¡ (d) ¤àÚå W¡àš A¡³à¹ ó¡ìº¡ 

 Which of the following increases air's ability to hold water vapour ? 
 (a) Increase in wind speed (b) Increase in temperature 
 (c) Decrease in temperature (d) Decrease in air pressure 
 Answer : (b) 
v) [>´•[º[Jt¡ ëA¡à>ô ë®¡ïìKà[ºA¡ >ƒã [¤>¸àÎ [>ìÚ "àìºàW¡>à A¡ì¹ìá> ? 
 (a) Òi¢¡> (b) ®¡àÒül¡àº-[l¡-ºà-¤ÃàÅ 

 (c) *ìÚK>à¹ (d) ëšS¡ 

 Name the geographer who has analysed the stream ordering : 
 (a) Horton (b) Vidal de la Blache 
 (c) Wegener (d) Pench 
 Answer : (a) 
 


